. E
| BP= 1 P25 P
- Rockster Lexan® FMR Polycarbonate Windshield
72235

Read these lnstructlons carefully and thoroughly before beginning work.
CONTENTS OF KITS

Item Description Qty. f F

Kit-Z2335 Tools Required:
1 Bracket, Left 1 T40 Torx Driver
2 Bracket, Right 1 Smm Allen Driver
4mm Allen Drive

BAG #499

Face Plate, L

Face Plate, R

Gasket

Wellnut, M6

Flat Washer, 6mm

Flat Washer, 8mm 1

Screw, Button M6 x 25 -
Attention

Special notes and cautionary measures which
can prevent damage to the accessory or
motorcycle.

= ]O | [N |O |o | |Ww
Al ]|-

0 Screw, Button M8 x 30

INSTALLATION

1. Remove the stock Torx screws from the left side of the
headlight bracket. Do one side at a time. Screws will not
be re-used. Figure 1.

2. Place left side windshield Bracket (1) with bushings
placed in recess from removed Torx screws. Figure 2.

3. Install Bracket using an 8mm Flat Washer (8) and an M8
Figure 1. x 1.25 Screw (10). Figure 3.

—-ﬂ\\r

Figure 2. Figure 3.

g 5 PR = PR U i A e NRWREEEET

ZTechnik PO Box 158 Maywood, IL 60153-0158 USA
708-343-0400 / Fax: 708-343-0625 / www.Z Technik.com / e mail: info@Z Technik.com
©2004 National Cycle, Inc. Page 1 of 2 10-118518-000

L& i L= i L= P/ T P S — Y ]



INSTALLATION (CONT’D)

4. Insert Wellnuts (6) into holes in windshield Bracket.
Figure 4.

5. Repeat Steps 1-4 on other side of motorcycle.

6. Hold plastic windscreen in place on Brackets, align holes
in plastic with Wellnuts. Figure 5.

7. Place the Left Side Face Plate (3) on the windshield with
a Gasket (5) in between. Attach the windshield, gasket, and
Face Plate onto the Left Bracket with two 6mm Flat
Washers (7) and two M6 x 25 Screws (9). Figure 6.

8. Repeat Step 7 on right side of bike.

Figure 4. 8. Tighten all fasteners securely.

M6 Wellnuts must be torqued to
5 FOOT POUNDS (7 Nm).

A M8 x 1.25 Screws must be torqued to
20 FOOT POUNDS (30 Nm)

MAINTENANCE

To clean the screen, wash with a clean soft cloth, plenty of warm
water and, if necessary, a non-abrasive soap such as dishwash-
ing liquid. Flannel or soft chamois make good cleaning cloths.
Paint, glue residue or grease removal: Moisten cotton with
Naphtha or Turpentine followed by a wash as above. Apply a
high quality plastic cleaner, such as McGuiar's Mirror-Glaze MG-
17 or Novus #2, to the screen. This will leave a protective coat-
ing on the screen, making future cleanings easier.

Figure 5.

Do not clean polycarbonate in hot sun or high tempera-
tures. Do not clean the screen with glass cleaners. Do not
use rain protective products on the screen. The solvent
action of the alcohol in these products will destroy the
screen. Do not allow brake fluid, alcohol, or strong solvents
to contact the screen or penetrate between the chrome
brackets as permanent damage will result!

Figure 6.

g 5 PR i PR U i R\ W e NRWREEEET

ZTechnik PO Box 158 Maywood, IL 60153-0158 USA
708-343-0400 / Fax: 708-343-0625 / www.Z Technik.com / e mail: info@Z Technik.com
©2004 National Cycle, Inc. Page 2 of 2 10-118518-000

L= i L= P/ L= P/ T P S — Y ]



